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4,000,000& * 975 = 25/100 97,000
== 29,100
= 67,900
EAF 3 CHEAIAE X & 28,000 11,200 16,800
o 5,600
= 22,400
402 SI2vXHE0| ™ 28,000 11,200 16,800
& 5,600
= 22,400
02 QIZEXIEANISE X (0| XM THL) 28,000 11,200 16,800
o EA SITHCHEAIAE X &
4,000,000& = 1092 * 70/100 28,000
o=t 5,600
= 22,400
EONFSPIRUFSES I 5,000 5,000 0
o=} 1,500
= 3,500
307 QI2t0| ™ 5,000 5,000 0
= 1,500
= 3,500
02 QI2tAMAIE E X 5,000 5,000 0
o EANED| ot AA 100,000 * 50 5,000
& 1,500
= 3,500
A ESMAE AL XM XS 76,140 70,200 5,940
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Jl 25,380
< 15,228
= 35,532
307 i+l & 76,140 70,200 5,940
J| 25,380
< 15,228
s 35,532
02 IZtE M AMHEE 76,140 70,200 5,940
o ArZ2lX HEH X8
60,000& = 1,410& * 90/100 76,140
J| 25,380
< 15,228
e 35,532
HALUSZAIZE LM 63,300 88,620 A 25,320
= 18,990
s 44,310
307 glz2+ol & 63,300 88,620 N 25,320
= 18,990
i 44,310
02 It MNAMHEE 63,300 88,620 A 25,320
o ploiABE AREIIH XY
30,000 = 4,220% * 50/100 63,300
< 18,990
i 44,310
ERN A=) WIDN P\ DK 54,500 74,700 A 20,200
= 16,317
s 38,183
307 glz2tol & 14,120 28,080 A 13,960
< 4,203
s 9,917
02 It MNAMHEE 14,120 28,080 A 13,960
o SN ANTUX
15,000& * 9005 = 60/100 8,100
< 2,430
s 5,670
o N=HAMEZA X
55,000& = 105 = 80/100 440
< 99
= 341
o &t Haxx KA
16,500% = 2005 = 60/100 1,980
< 594
fia 1,386
o B2 0UEsEd X
10,000¥ = 6005 = 60/100 3,600
< 1,080
i 2,520
402 RI2HX =201 M 40,380 46,620 A6,240
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2 10,920
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2 2,100
o DEMMS HMDHUIX
10,000,000& * 2CH * 60/100 12,000
< 3,600
[ia 8,400
o FAt2el & CCTV X
2,000,000& * 4CH = 60/100 4,800
< 1,440
[ia 3,360
o g2 M=2=20101 X&
200,000& = 29CH » 60/100 3,480
< 1,044
[ia 2,436
o g4 Usag=Jl XNE
250,000& = 10CH » 60/100 1,500
< 450
[ia 1,050
dHMEEHZH (N 18,000 18,600 A 600
< 5,400
s 12,600
307 2Iztol ™ 18,000 18,600 A 600
< 5,400
e 12,600
02 RIZFAMAMEE X 18,000 18,600 A 600
o ZMEEEZA(ONA) 2 AHIXI &
30,000& *» 6005 18,000
< 5,400
s 12,600
StRYALASATZAY 36,720 40,940 N4, 220
= 10,464
= 26,256
307 glz2+ol & 36,720 40,940 N4, 220
< 10,464
= 26,256
02 RIZFE MM E X 36,720 40,940 AN4,220
o FUNsEEAML 1,000& » 2,6005 2,600
< 780
i 1,820
o &2 FREO ALY 40,0003 * 2305 9,200
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Jl 183,529
[ 24,470
= 97,882
A RASHZNLAEY 13,600 10,400 3,200
< 4,080
s 9,520
307 glz2tol & 13,600 10,400 3,200
< 4,080
s 9,520
02 It M AHE L 13,600 10,400 3,200
o HAsE MEAY 58,000& * 2205 12,760
< 3,828
[ia 8,932
o ®= JEAME 2,000& * 6005 * 70/100 840
< 252
s 588
SHsEH(ZR0)X A 2,160 1,584 576
< 432
s 1,728
307 21201 A 2,160 1,584 576
< 432
[ia 1,728
02 It S AHE L 2,160 1,584 576
o YsdH(TR01) XA
120,000& = 30& * 60/100 2,160
< 432
s 1,728
SsII A& 47,500 12,500 35,000
= 14,250
[ia 33,250
402 RI2HX20| ™ 47,500 12,500 35,000
= 14,250
[ia 33,250
02 212t 2 AL EZ (01X TH ) 47,500 12,500 35,000
o ARE RFERA J3EZ A
15,000,000 * 1JHZ * 50/100 7,500
< 2,250
s 5,250
o HAHRAYXNE HWELSI N
3,000,000& = 504 = 50/100 7,500
< 2,250
s 5,250
o HRIH U X
50,000,000 * 1JH2 = 50/100 25,000
< 7,500
s 17,500
o AR N
15,000,000 * 1JHZA * 50/100 7,500
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o =ZHDE WAAY
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= 36,000
kA H M 25 94,500 57,120 37,380
= 28,350
= 66,150
307 S12t0| & 59,100 57,120 1,980
o 17,730
= 41,370
02 DI AAIE E X 59,100 57,120 1,980
o HetutE X RALY
80 = 650,00008 * 60/100 31,200
== 9,360
= 21,840
o SAN 2N
5,000& * 9,300% =* 60/100 27,900
== 8,370
= 19,530
402 BI2H X =20l M 35,400 0 35,400
= 10,620
= 24,780
02 CIZEXIEAIS E X (0| M THL) 35,400 0 35,400
o Y ANs=x=HX A&
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= 6,300
= 14,700
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& 4,320
= 10,080
s FMA 2 147,400 83,680 63,720
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= 108,250
307 212t0| & 97,840 53,440 44,400
o= 24,282
= 73,558
02 DIZHE AAIRE E X 97,840 53,440 44,400
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=2 EAH SR 22,800 50,000 A27,200
J| 11,400
< 3,420
s 7,980
402 2I2H X201 M 22,800 50,000 A27,200
J| 11,400
[ 3,420
s 7,980
02 QI EAISEZ (01X THS) 22,800 50,000 A27,200
o NEEL MUXNZ(OHEAIL-E XY 3)
57,000,000 * 1JH2 = 40/100 22,800
p] 11,400
S 3,420
s 7,980
2 824 oF 5 T 2t H K| & 89,400 44,400 45,000
= 26,820
s 62,580
206 M= Hl 41,400 30,000 11,400
< 12,420
i 28,980
01 M= 4l 41,400 30,000 11,400
o SANER MBAAHWZAH A (ZXE)
20,000& = 2,070kg 41,400
< 12,420
s 28,980
307 gl2tol & 48,000 14,400 33,600
< 14,400
s 33,600
02 IS AHE L 48,000 14,400 33,600
o BHMEE MHAAFHMIM X (e
20,0002 * 4,000kg * 60/10 48,000
< 14,400
s 33,600
EASAMSSHI XA 14,700 14,700 0
< 4,410
[ia 10,290
307 21201 A 14,700 14,700 0
< 4,410
[ia 10,290
02 It S AIHE L 14,700 14,700 0
o ABA=AES USH X
700,000& = 30&  70/100 14,700
< 4,410
s 10,290
S4&sot 3N EFHI X 60,000 75,000 A 15,000
= 18,000
s 42,000
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402 BI2FX=01 M 60,000 75,000 A 15,000
< 18,000
s 42,000
02 QI EASEZ (01X ) 60,000 75,000 A 15,000
o JEELHAL AJS2M XV
30,000,000& =* 4CH * 50/100 60,000
< 18,000
s 42,000
ZEIIoH Ol YA 84,000 7,200 76,800
< 25,200
s 58,800
307 gl2tol & 18,000 0 18,000
< 5,400
s 12,600
02 It M AHE L 18,000 0 18,000
o SMHEHMel N
10,000,000 = 3JH4A = 60/100 18,000
< 5,400
s 12,600
402 2I2H X201 M 66,000 7,200 58,800
< 19,800
s 46,200
02 QI 2 A EZ (OIS ) 66,000 7,200 58,800
o 2 EME & A2=ZEH3H XA
10,000,000 = 1JHA = 60/100 6,000
< 1,800
s 4,200
o FASIANE(SED) XE
300,000 = 120CH = 60/100 21,600
S 6,480
s 15,120
o 2R ALE XN
16,000,000 = 4J0 A = 60/100 38,400
< 11,520
s 26,880
HFAMAE> M2l K& 50,000 10,000 40,000
< 15,000
[ia 35,000
402 QI2H X201 M 50,000 10,000 40,000
< 15,000
s 35,000
02 QIZF 2 A EZ (OIS ) 50,000 10,000 40,000
o ¥FME MelX&
25,000,000 = 5Jf 4 = 40/100 50,000
< 15,000
s 35,000
A0 HeAFA HlwH> 2,100 2,100 0
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= 630
= 1,470
301 LBt A= 2,100 2,100 0
= 630
= 1,470
06 212to1 =22 (4 HI 2,100 2,100 0
o 24Fp0 HASH HBAS
,000,000& * 1= = 70/100 2,100
& 630
= 1,470
ANSMAE SR XS 21,000 21,000 0
J| 9,000
& 3,600
= 8,400
307 2iz2to| A 21,000 21,000 0
J| 9,000
= 3,600
= 8,400
02 QIZIAAAIE E X 21,000 21,000 0
o ME&Z2 SXUHAE
120,000 * 250ha = 70/100 21,000
J| 9,000
& 3,600
= 8,400
H MBisIt AI2&2 XIS 4,800 5,600 A 800
= 1,440
= 3,360
307 2iz2to| & 4,800 5,600 A 800
& 1,440
= 3,360
02 QI AAIE E X 4,800 5,600 A 800
o W MHUisIt AI2&2 K&
400,000€ * 12ha 4,800
& 1,440
= 3,360
REE SHHEARE 50,400 8,400 42,000
== 15,120
= 35,280
307 2Iz2t0| & 50,400 8,400 42,000
= 15,120
= 35,280
02 DI AAIE E X 50,400 8,400 42,000
o JHRE FatetA XS (mel 2 A)
12,000€ * 6,000004 * 70/100 50,400
= 15,120
= 35,280
S HH| M AAA XA 156,000 70,000 86,000
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o 12,600
02 BIZtXIEANYEX(0OIETHHA) 18,000 0 18,000
o |0TD|8 SR 22 AIAE K&
15,000,000€ = 2JHA = 60/100 18,000
< 5,400
= 12,600
e YA 1,490,086 973,812 516,274
2 411,916
J| 65,345
& 175,193
= 837,632
IIEAEWEH2H 199,500 0 199,500
201 Yer2 | 4,000 0 4,000
01 AP 22| H| 4,000 0 4,000
o JIFZEY HAIS L F4A2 HOI Hel
400,000& = 103 4,000
206 M = Hl 125,500 0 125,500
01 T2l 125,500 0 125,500
o el IR (FAI,FAE HEES)
1,000& * 15,0005 15,000
o JIFEY HERLY Y$H=2
6,0008 * 13¥ = 100& 7,800
o 2gudg ASUE 20,000& * 800kg 16,000
o MAXHEES, = HIANE SESYLE
20,000& * 503 1,000
o AN BN, JIEN EEY¢A 2008 * 5,0005% 1,000
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o ZxzH AtetH HAS2ZH
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o UEERIA Al 5,000& = 14,0005 70,000
obEgelrE R 191,149 225,015 133,866
= 119,267
== 21,564
= 50,318
206 M = Hl 110,303 141,459 N31,156
= 68,994
& 12,393
= 28,916
01 X2 H| 110,303 141,459 N31,156
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